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OXIDATION-REDUCTION
Bi,S, + HNO, —+ Bi(NOy, + S + NO + H,0
HNO, + Mn(NO,), + NaBiO, = HMnO, + Bi(NO,), + NaNO, + H,0
CHCL, + K,Cr,0, + H,80, = Cr,(SO), + K,80, + Cl, + H,0 + CO,
Ag:AsO, + Zn + H,S0, — AsH, + Ag + ZnSO, + H,O
CaC,0, + KMnO, +H,S0, — CaS0, + K,S0, + MunSO, + CO, + H,0
KMnO, + NH,CNS + H,80, — MnSO, + N; + CO, + K,S0, + H,0
KCNS + KMnO, + H,S0, — MnSO, + N, + CO, + K,SO, + H,0
K,Cr,0, + Na,$5,0, + H,SQ, — Cry(8Q), + K,SO, + Na,S0, + H,O
SnS + As,S, + HCIO, + H,0 = Sn,(AsO), + HCI + H,S0,
Hg0,), + KI + HCI = KHgl, + I, + H,0 + KCI
Mn(NO,), + KIO, + H,0 — HMnO, + HNO, + KIO,
HNO, + C,HOH — NO + CH,COOH + H,0
Sb,S, + HNO, — NO + S§b,0, + H,S0, + H,0

KBrO; + KI + HBr - KBr + I, + H,O

KCIO, + FeSO, + H,SO, = KCl + Fe,S0,), + H,0

Mo,;,0,, + KMnO, + H,S0, — MoO, + MnSO, + K,S0, + H,O
Pt + HCI + HNQ, — HPtCl, + NO + H,0

H,5bO; + I, + H,O = H,ShO, + HI

FbCr0O, + KI + HCI — PbCl, + CrClL, + KCI + I, + H,0
Mo,O;, + KMnO, + H,S0, = MoO, + MnSO, + K,SO0, + H,O

P + NaOH + H,0 — NaH,PO, + PH,



